fure |
Lec

A
Sanp
and|

i
Ao

TIT »@(7\
date
Read iy
— WU(JJy
1‘13: Wi . §/7 ‘
J SA Cyr
Suu/\ . 20

2020
Sun
Ornee .



ACK

-

' gwfl.e,:

|
g g [ /< "—f—> D—>—| recewer
—

§amréa 4° \?memﬁm time D{Z,&Vay ti e
g;‘ D;‘

Atz t- max§ S Distl,

Ack : zerd faw(bﬂwk de[%/v
servor aolle / bmy stote 2 knewn gt He sa//w‘aéef\

o Consider a TCFS ij §y9ﬁrw . with a
gw/mf service  time  distrbution

°  cofvice Tme . X' 4.4.4.

b<EY] <08,



PIt) s non-dlecreasing.

vat = lm«%f ~U: ]’(Att)) oH;J_

TeEN T 0o
(61,52, ') 14 @ 4&M¢>Qn§ fO/&CI'%
\

6&;«419&‘,3 time
T1:  the set af Couse] -Poﬂzaizﬁ.

Theorom:

The policy (i), 5a(p), - —) defired by

SH(((B): ‘[nf?‘tz D‘l(@) E[f(A('t'{' \I/I-(—l))]?/ﬁ},

where D)= Sitp+ N2, D)= t-Sig).
wd [ is the reot of

EUD.MF F(A(-(;))O(Jﬁ:[ (;}:[P <[P D;{F/J ‘ («%)\
4 aa e’)t/m/zﬂ colution to (41).

FMW [;: —J;OP‘(; .



eww it1 W Jonerated Ot the earliest
time £ QQﬁQ*fy)/\j:

() £7 D@, sanple 3 Jos baon olelivered.

() E| F(AU:+Y,‘“))J has  grown to
7 thushold F:’FO’?L‘.

Nete: (%) has a Wu‘zW sobutom

Readi i Thoorem 4



o
Step 1.
L%Mi, It 'Lé S‘M,b—o{)-{-j)mj +to take a sew §4/rnfl€
)mfgpg te previous sdmfla w  delivereol
fm”][ Zf a Qd/mf[ﬂ e tolen wihen the server s
busy, one  ocan design a  bebter S‘a—mf(ﬂf\,
L}/ ]wgtreywﬁ the ga,m.fgb/\j tme T @ &Jqﬁu-
time  when  the  sever by cames ol )
By thic Lemma ,  we O'U(}/ need o consicler the fobci&_s
ﬁl’; %)T(“éTv Sig Z |>,‘ = %,‘-«- R fora.(/( %3 '

L@t iZ,':: gi-ﬂ" D" 7/0' bé the V)Mtl‘/j time bm'&’/]
Dl' M 9[4—(,
Desijmi,n\,r the HWLf’v@”\:r timas (§(,§2, -—-—.> ¢
%/U\MM to 0{%(7/443 the wait«‘vj times (Z, 2, ---)



g’caf 2.
Suppose that ¥ TETTL :
i s EMD, Plo@) dt]

(o) Limsup I’TEU: Plot)) o(,tj =]
09 929 E[Dl] |

(=) {'\A:q B vt [&D" Ploce)) k|  exist.

The a%t,mf;t.‘ms will—be descussed (ates .
Then, we Wart w Mniimize |

Limsup ’IT' EU : Plote)) dt |

T-09
b
< Jimm (7 procende]
et = DY ]
= lim Z« EUD:.H P (o)) dt |
1209 32':., E’ [YJ =+ ZJJ
Di =S+
Sier= Pi+ 2

PH’{ = §,‘+:“’ Y,‘_‘_( .

Afg) = t- max§di D.\‘t‘} _
becaus DisDe Y1, +then

A(":)r '[:-' Ql‘ ’l\]c D|§_t < D,‘_(,' |



= f{f” P(t-$))dt .

J

T=< t - g\)‘ .
SYTP ’Z\)"'%H

P(<) dt

—_—

J

0, & T

S50 S
i t= D;. hen
T=t-§5= Y |
J:f += DJ.H, Yhen
T= t-§j
= Dia—5
AR RS

Pj-rl~ t

Pef= d(y 2,y

y+zty’
= j P (T) o .

J

The Pmb(w« s Pe'f_bfmn{zw@( as

_Port = /:y‘j: li m

= E LY. 3, %)

Te'_(ﬂ 128

9+¢/n> 2.

=E (Y+2%).
J=1

Consigler the ’J:D[Zad)?\ﬂbv Pmﬂﬂm’

1

().

he = ot lim LS (40Y 25 Yur)- ¢ (62|, (2.

Qe 1200 ' j=1



~ S -
3 Z : : =
L@MMR‘ ( ) PO'-L 2 C 1f g( onf}/nf %(C)z o)
(b) If he)=0  then the sofutime to (1) and (2)
ore  4dentica] |
P"”jfi I ]SOPtéa ,then  hic)so

I]C Forﬂ:sc, Yhen ffr)r any 5 >0
Yhere exishks o Fo,&‘y = (Z.,B;) -~=) sm‘sfn/i»j

(M

= C[4(%.3,Y))

169 R < c+ 2,
=t (Y+2)
L m %E[ﬂl’(\(,]'g,)‘,\{)ﬂ)J‘CE_E[Y\)-FZJJ
1-209 =t <z

=t (Yj+3%
J=1

ECY;l>o0

LS E(GeB)zm 7o
\ J=~=

17 00

'm ( .i_. ';‘ r
T = L1608, ) - ¢ S ELYit2)]

S¢ LS ELYitz;]

L AN



a. é;mmb; =
48
= — ws Q,lﬂ, = ab
-
The chocce 0f $>0,  ax wbéﬁary‘
\ w2}

[ —_; E(8(Y;. % Yia) - CT%LEYJ

fflir

S0
hie) <o ,
1 co  bhen P bct
f h(C) O . opt .
Noxt  we  need
Pt < Af % ondyif  hey<o
QFon>C &ff 24 (Mly 7]( ho =0 .
B}/ thic |
he S o)
>

~c 1]0(@04@16

Pt



